HToroBplii KOHTPOJIb 1O 0JIOKY «UHc/Ia M BBIYMCJIEHUS» 10 KYpPCY
MareMaTHKH 9 kiacca

BapumaHnTt 1
Mpumep OTtser Mpumep OtBer
1) 1,3:(-4) 11) -0,3- (-87)-§
.- 5.(22)2
2) 5,6:(-28) 12) 3 3(130)
3) -0,6:1,2 13)  (=7)° x49:(=7%)
4) 2,50,8 14) 231014
4,6:102-4,2
5) 0,7-1,83 15)  (—v3)' - v2°
6) —_- (_ E) 16) 10-+/1,21 — 510,64
8 21
7) —2%.2 17) V53-420
3 7
2
8) _zé_(_gé) 18) (\/E—l) —-1++/8
1 \J3+/28
9) —42 — 6,75 19) o
2
10) —:04 20) = +2V3




BapuaHT 2

Mpumep

OTBer

11) - x (=26) x (—40)

Mpumep OTtser
1) -1,4-6
2) -7,2: 36

3) 0,7: (-1,4)

4) 2,5-0,04
5) 0,3-5,63
2 9
6) —2 (-1
7) —2%2.2

0 -42-()
9) —3% 6

10) %: (—0,2)

24X(22)3
12) >
13) (=5)3 x 25:(=5%)
14) 2,7><10:><1,3
5,4x103x3,9
15) (—v2)° - V37
16) 5x%x4/1,44 — 10+/0,81
17) V12 x+/33
18) (V3+1) —3-ViZ
V5x-/44
19) NETNI
2
20) = - 242




